
Quiz 2 – MA 123F – Tuesday, Sept. 21, 2010

Name:

Note: Question 2 is on the other side of this sheet.

(1) In each case (a)–(c), determine whether the limit exists, and if so determine its

value. Show your work.

(a) lim
x→1

1

x− 1
− 1

x(x− 1)

(b) lim
x→−1+

√
x + 1√

x + 5− 2

(c) lim
x→0

f(x), where f(x) =

�
ex cos(x) if x < 0

x if x ≥ 0

TURN PAGE OVER



(2) In each case (a)–(b), determine where the function f(x) is discontinuous. Justify

your answer.

(a) f(x) = ex sin(x)− 1

x

(b) f(x) =






x2 if x < 0

1 if x = 0
sin(x)
ln(x) if x > 0




